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Bb@mminqtion Middle School Teacher Eligibility Test - 2018
board 28th Feb 2019 02:30PM

Topic:- Child Development & Pedagogy (CDP)

1) A student is motivated to study due to the belief that a good grade will help his/her application
for Class Representative. According to the Humanistic Theory of Motivation which need is he trying
to fulfil? / U% BT 59 Ay § g H34 & fore e giar @ fr ores1 I Sud /399! Pan ufafafy
aﬂﬁé?erra‘ﬁgnaaml SR & AFEarard! Risid ¥ IR, 98 {59 raxaddr &1 ) - 3t
HIRIRT B ST 82

1. Esteem Needs / S8! 3a=aehdl
2. Self-actualization Needs / 3TH foayur Y SraRgEdr
3. Social Needs / GMHI® 3MALIHT

4. Physiological Needs / foraTd® 3Ta=aahdl

Correct Answer :-

« Esteem Needs / §S! SRl

2) Which of Marcia’s types of identity status is characterized by acrisis leading to commitment? /

TR & {59 UoR 31 yga o R $Y S G2 GRT Ig=1 11 © o ufaasan st 82
1. Identity achievement / Ugdld 3Ucleddl

2. Identity moratorium / Ugdld AT

3. Identity diffusion / Ugdld UHR

4. Identity foreclosure / UEdT BISTGRT

Correct Answer :-

o Identity achievement / Ugdld 3Ucleddl

3) Which of the following idea about learning process is not implied by the theory given by J.

Piaget? / fafafad # o 1 fduR 9. wet gR1 3w 7 figia & iftrma 35t uftear & wey § fAifga 6t 82

1. Learning is passive assimilation of given knowledge. / 3T 3T U I & FAfsrg Sifar %I
2. Learning is an internal process of construction. / 3ifeETy famfor & T AR Ufhan %’I


Lenovo
Stamp

Lenovo
Stamp


3. Learning cannot stem from observation or experience alone. & Bute Had Haaie a1 S RGE] Y I el |l
ehdT|

4. The process of learning makes sense in situations of change only. / SATH Bt Ufshar had uRad- &t fufaal |
T H ot B

Correct Answer :-

« Learning is passive assimilation of given knowledge. / 3T fau T 39 &1 FAfspa aif¥rar g1

4) Children belonging to same age group and sharing similar social background are known as

./ U 3y T & T o1 g SR U wrfore gy B " S & U H AT

ST B
1. Play mates / ol & greft
2. Friends / &3

3. Class mates / G&UTST
4. Peer Group / AT &7 HHE

Correct Answer :-
« Peer Group / ETTAT &I HHg

5) Low student engagement inside the class.could be because of -/ F&M1F WX BF Bt H9
FeHTRET f5g SR A &) gl 8-

1. model based learning / B TUTRA 37T
2. Cognitive conflicts / TATATCHS IOy
3. Interactive sessions / GaTeIcH® T

4. the lack of interest / T T haT

Correct Answer :-

o the lack of interest / 3T hT T

6) Observation is an example of: / Gﬁ?ﬁﬁﬂw BE'IETUT% :
1. Assessment / 3Tdhelcl
2. Evaluation / EELF\’J'I%T-[
3. Measurement / AT

4, Test / GI&TOT



Correct Answer :-

o Assessment / 3Theled

7) A disability present in which of the following? / Af>Ffaf@a & @ Fw & & nawar Al
e

1. All of these / et Jqaft

2. Continence, dexterity or physical coordination only / shdel 3TcHEdH, AYUTAT, A1 ARG FHeaH

3. Speech, hearing or eyesight only /dae HIVUT, HdUT AT TTE

4. Mobility, perception or memory only / hdel Irfaefierdr, 3@ a1 FHfa

Correct Answer :-

« Al of these / Iuad Tqaft

8) involves a stimulus which strengthens the probability of the expected response. /

F v e gieafad @ § S e wfafear Y o Y gad Far B

1. Negative punishment / dhRIcHD GUS

2. Negative reinforcement / cTehRTcHD e ol

3. Positive punishment / GhRTcHb cUS
4. Negligence / SITUdTgl

Correct Answer :-

» Negative reinforcement / dDRIcHD go-icfloid

9) Which approach to teaching does strengthen one’s memory? / fRraor & faw
Pler-ar gfSepror Rt 1 T FY AsTqa FIaTR?

1. Multisensory /EIE@'QPI
2. Visual memory / €T W{ﬁf

3. Tactile memory / LT EHIA
4. Audio-lingual / 3Tf3a-felvae

Correct Answer :-



» Multisensory / E@ﬂaﬁ

10) According to Kohlberg level of morality is determined by social norms explicitly or
implicitly agreed upon by a group of people. / PIEAGH F AR, Afdsar &1 TR FEoF
AEEl garT T9se T F RuiRa gar & a1 sl & v §Hg g@rr TUse W9 @ dEAd g B

1. Post-conventional level / US9-URUN® WX
2. Conterventional level / dlceldATel TR
3. Pre-conventional level / q?r-UITQﬁ?F T

4, Conventional level / URUR& T

Correct Answer :-
« Conventional level / URUNP TR

11) What is the process by which information is lost from the long term memory due to nonuse? / 9§

uiFar #1 3, OeE qEm fdefew Wi & 8 gEe euar g & FRT gAd St §?
1. Delay / Tea

2. Decay / &T%

3. Rehearsal / Q@i

4, Interference / s&dely

Correct Answer :-

e Decay / &3

12) What does Kohlberg’s theory of development focus on? / Figaes & e # gy Fa w®
Fioga 82

1. Moral judgement / Afd® Ao
2. Moral behavior / afded gder
3. Cognitive judgement / TATACH® Aok

4, Judicial behavior / =aTR¥$ TR

Correct Answer :-

 Moral judgement / Afdew Ao



What type of model describes development as a passive, predictable response to stimuli? / @ Y&R &1
Azl sewsar & AT v A, sefaa gfafear & w0 F Rew &1 aofa wwar 2

1. Organismic model / 3RIfSHS Az
2. Mechanistic model / Jdad Also
3. Attentional model / 37T HAST

4. Descriptive model / uidATcHS HAlS

Correct Answer :-

 Mechanistic model / IJFad izl

14) What does OCD stand for? / 31#ist (OCD) & qof & Fa7 872
1. Obsessive-Compulsive Design / 3Te0f8d-wedfodd Bosa

2. Obsessive-Compulsive Disorder / Jrenffag-weufoqa B3R

3. Obsessive-Cognitive Disorder / 3ifedffa- difdafea fBasiE

4. Office of Cognitive Design / 31fpd 3% wifedfed s

Correct Answer :-

» Obsessive-Compulsive Disorder / Jenflg-weufeda BAEY

15) Theories of Child Development explains: / STl fa&ra & m afvta #a & f:
1. How children grow and change. / &9 &Y ged 3R gEad §l

2. How children behave in schools. / T3 {-cpoi\i # dan Jdel &ld %I
3. How children are educated. / 9= $Ha AT&T 'e‘?l?f %I
4. How children react to situations. / = URIEATIAT & HFa gfaferar & %I

Correct Answer :-

« How children grow and change. / 9T &8 ded 3R dGald &l

16) Which famous psychologist first proposed the theory of Insight Learning from his study of
chimpanzees? / f&w iy Fadwfas A wge TR ROl w0 3= 7 T sreaae & aifoe arfters
& Rguid (LA AE gaame afdm) Ft gfaaea

1. Edward Thorndike / TSds Urisisd
2. Wolfgang Kohler / alehalaT dhlgek



3. Jean Piaget / S fOra
4, Ian Pavlov / gaid Urddlldg

Correct Answer :-

» Wolfgang Kohler / aiewslaT diger

17) Which of the following is an intelligence test? / faeaifaf@a & & Fla-ur v ggfer adaror g2

1. Locus of Control Test / @idd 3HIth dheld ¢
2. Sentence Completion Test / TTFT GUIAT UIT&TOT
3. Myer-Briggs Type Indicator Questionnaire / FIY 598 TI3U Hhdd AT

4, Binet-Kamat Test / fdaic-drada alietor

Correct Answer :-
 Binet-Kamat Test / Tdae-drAd gdigor

18) Which of the following is not a type of reasoning? / FFITai@d # ¥ &Ia-HT U YR HT do Tel

82

1. Syllogistic reasoning / 3UcrhRI d& (Rfarsiifafes derfcm
2. Deductive reasoning / fdidicas ab (fSsided, Asifean)

3. Transference reasoning / 3=IRIUUT dh

4. Transductive reasoning / URcifdhes dd (ST=asiaed Jfaar)

Correct Answer :-

o Transference reasoning / J=aRIUUT ddh

19) Which of the following is not a gateway drug? / A&faf@a & & Fia-a1 v Aed g 7T 82
1. Alcohol / WM

2. Tobacco / H’JIT

3. Marijuana / :mﬁq:aﬂ?-n

4. Cocaine / Ihlel

Correct Answer :-

« Cocaine / IhI



20) Which of the following is not the focal point in the process of teaching? / farafaf@a & ¥ #la-#t
fRyator & wftear & g fig et &2

1. Pupil / BF

2. Content / HTHI;

3. Teaching method / fr&for fafar

4, Teacher / fr&Td

Correct Answer :-
o Teaching method / fRr&1oT fafey

21) Which one of the following is the symptom of ADHD? / safaf@a & & Hia-ar vdvadt 1 Fayor
&7

1. Boredom / 3G

2. Stuttering / STl

3. Hypersensitivity/ 3Tfaadgeaiterar
4. Hyperactivity / 31fd |fehadr

Correct Answer :-

« Hyperactivity / 3ifd Hfhadr

22) Vygotsky’s Theory of Language is based on learning theory. / IrIMNcEHT Y ST FT
Reua _ sftew & Rguia w smaRa 2

1. Behaviorist / cIIgRATET
2. Cognitive / HTATCHD
3. Constructivist / TIATATEY

4. Emotional / HTIATcHD

Correct Answer :-

« Constructivist / I{TATITE!

23) is one of the many ways through which culture affects development. / % adil
##waﬂm%mmw#awﬁr faer 1 ysnfaa & #

1. Religion / et



2. Context / TG
3. Language / HINT

4, Environment / TTAer

Correct Answer :-
» Language / #TUT

24) is studied under Personality and Social Development. / F1

eI FfFded 3R FfoF Rem & siada frar smar §
1. Egocentric behavior / 3TcHbigd cTdER

2. Memory process / EHfd Ufehar

3. Perceptual acuity / TYRUMcHD AI&0TAT

4. Premature birth / THI & qd T

Correct Answer :-
» Egocentric behavior / 3Tcdhied cIaeR

25) The purpose of scientific investigative learning in education is: / e # denfas s e @
3¢ %:

1. To encourage collaborative work / F&dTafl BT DI WcdTTed e o TolT
2. To complete the curriculum content / UTGIAhHA At By QT A & fow
3. To build scientific literacy / d=iTfetep TIERAT &l fAATOT &aT & forw

4. To provide hands-on experience in class / &T T T&l 3IHT Y& B o g

Correct Answer :-

« To build scientific literacy / d=TTfaics TTERAT &I HATOT FHIAT & forw

26) Outlining the expectations from the students will enhance their learnability. This task becomes part
of : / BT & IETAHT FT U A A 3T HAIA iy ewvar # gefy geftl 7w feer &1 e aa1 Smar
&

1. Summative assessment / FRIAT 3Teholed
2. Assessment of learning / 3fITH FI 3Thele

3. Assessment as learning / 31fQ9H & &7 H bl



4. Assessment for learning / 3ifA9TH & forw meheled

Correct Answer :-

« Assessment for learning / QA & faUw 3Mheld

27) When social values and beliefs are deliberately changed in an individual, it is known as AL

qmﬁmmaﬁtmaﬂaﬁmﬁwﬁwﬁa#qﬁaﬁawﬁmm%msﬁ
rcr#sn:nan?n%l

1. Secondary Socialization / g I FATSTRIOT

2. Primary Socialization / UTfHd FHATSIRIOT

3. Anticipatory Socialization / TcaTfId FHTSIIAIOT
4. Re-socialization / GeT: - HATSTHIOT

Correct Answer :-

* Re-socialization / Qe - AT RIOT

28) “Practice makes man perfect” can be example for which law of Thorndike? / “37#ITH HeJsq C)
aRqet ST 31" ghisEE & e e & AT 3qEor o 'Fdar 62

1. Law of exercise / 3% &1 (99
2. None of the above / 3tRIsp & & Hlis el
3. Law of readiness / dcOidr &1 g

4. Law of effect / UG T I8

Correct Answer :-
o Law of exercise / ¥ &1 fFgH

29) “The Hierarchy Theory of Motivation” is a theory proposed by: / “UXUTT T 3TeTsha fRguia” g%
eanrr gfaarfed fam ar=m:

1. Abraham Harold Maslow / 3TsITgeH %{T(vs HATEC

2. Le Semyonovich Vygotsky / oif RIFafaa arsatcehr
3. B.F. Skinner / .U, ¥l

4. Jean William Fritz Piaget / Sl fafergdr frcst s

Correct Answer :-



« Abraham Harold Maslow / 3T§TTgd t(es HATEAT

30) What is called education acquired without any specific purpose, fixed period and place? /

B fAafdse 3ggew, ARTa 3@afYr st vu=r & e siRaRa RNaw & a1 Fa1 ST 32
1. Formal Education. / 3iaaries feretm

2. Informal Education / 3/aiqariies fret

3. Indirect evaluation / 3Uc&T HedThel

4. Individual Education / cafrera fueT

Correct Answer :-

« Informal Education / 3/ataariyes fveqr

Topic:- General Hindi (L1GH)

1) Rigraa few 38 Twra=i 7 ygpet arit A,
¢ YRa # ot o bR | Tt sar A,

T g€ e B Prea we vgErE o,
 fp¥ft &1 w3 &t w9+ 91 | o1 At
THS I1 T Ia H, 9§ qTaaR G AR,
Sad el & ge gu G- per A,

T wE! Aei-t g ol S areht I A
FHHEYR & A B, Ygaldl gg-1 ot &,
wgiarg A, far $1 98 Har srdet A,
AT & H ygd! o 98, A & G @et A,
TSN, T, PUIYT, HeR} ITS! Td TRelt A
dR Rrarelt Ft AT TS a1g WA A,
930 gRaiel & He ga g Bt A,

T wE! Aei-t g o) SR areht I A
de&Ht <t a1 gut i 98 Tad dRar 3 EdR,
39 #R1S Gaford gid IS aoaR] & IR,
THel JF-g DI 7T R JaT G RPR,
= TR, g A1 A & 39 g fawars |



ST U Bl UgHR A1 I 9 a1ad U= T IR qarse|
" Sfaar ¥ I & g Raerars i1 st &1 we1 T 82

1. el Aholl Fg-cJg DI T
2. el A= O, ot Az
3. %ad Gd PR Gorer

4. 30 |l A

Correct Answer :-

o 30H G P

2) Rigra= fea IS o= A ypdt arh <&,
¢ YR ¥ ot 31 v & =7t Srarh <A,

Tt g€ STeid) Y Frua Fe vgErE o,

w p¥ft &1 A &Y J9= 91 | o At
TA® IS1 I IuEq H, 98 daar R o,
Y¢d gearal & He g6 gl wer A,

T IS} AeiHl ag df et arel T i
PR P A1 B, Yeare 98 Batet A,
detarg A, fUan 3t 9 Har st o,
AT & T g ot 98, A F F @en o,
TS, T, PUIY, T SHS! Fg! Woert A
IR Rrarsht 3 MU IHS! 918 Far A,
Yoo gearal & He gad il wer A,

T a3} g+ a8 af i areft I i
et ff a1 gt <t 95 W Irar it @R,
39 WIS gafed gid IAP! qAaR] F IR,
THeN G5-gg P 3T 3R W GE R,
= R, gl s 3 3 3 fira fewars |
Iue U= ) g Y YR I a1t R T S@iX Sa1s¢|
wY: ‘g Fhalt &) H ot Ja 99 o 3 o &1 7 aaag 82
1. e &1 1 oY aram on

2. 50 F A PE A



3. @ae Y U W1 &t g e dr Al o
4. 7= AR UST et o R @ wega @1 Ay foear ar

Correct Answer :-

« T 3R g gt A Rt o @iz o @ foear an

3) Rigram fye S werawi 3yt ari 6,
¢ YR ¥ ot 3 v & =7t Srarh <A,

Tt g€ Sreird) Y Frua Fe veErE o,

W p¥ft &1 A &Y J9= 91 | o At
THS I3 I F1a- H, 98 dadR qREL A,
Yoo gearal & He gaq il wer A,

T IS} AeiHl a8 4t et arel T i
PHEYR P AT B, Yeaten 98 Batet o,
deiarg A, fUar 3t 9 Har st o,
AT & T ugd! <t 98, A & G Qe A,
TS, T, PUIY, FRI SHS! Fgt Aot A
IR Rrarsht &Y MU Iawt 918 Far A,
Yoo gearal & 4e gH i perl A,

T a3} g a8 af S areft I i
et ff a1 gt it 95 W@ Irar it @R,
39 WIS gafed gid IS qAaR] & IR,
T G5-gg P 3T 3R Qe GE RN,
= R, g dis 3 A 39S g fewars |
Iue U= ) g 1Y YR 9 a1 R T 3@} §a1s¢|
ay: f5a ATt B HiAd TaH! TH A 31 718 A2
1. 700 g5 A1 By WS T3

2. IOTATTAG JTSATET

3. NehdiTadh TS

4. S TS grg A

Correct Answer :-



4) Rigra= fa 3 Tea=n 3 yHdt arit A,
¢ yRd H oft o v A Tt S A,

Tt g€ ST A P T vgEEh R,

w p¥ft &1 S &Y J9= 91 | o At
THS I3 I WA H, 98 dadR R A,
§3d gl & 4g gH Gl werl o,

T ) Aei-l ag af et arel T i
PR P AT B, Yeaten 98 Batet &,
detarg A, fUar 3t 9 Har st o,
AT & T ygd! <t 98, A & ST Qe A,
TS, T, PUIV, TR SHS! Fg! Aoert A
R Rrareh #t My IaH! arg Fwar 8,
§3d gl & Yg gH il derl i,

Qe a3} g+t a8 af S« areft I A
et ff a1 gt <t 98 T dIrar i @R,
W RIS gafed gid IS qOdR] & dR,
TN G5-gg I 391 3R W Gd RR,
/= R, g dis 3 A 39S fira fewars |
IuYe U= ) g 1Y YR 9 a1 R o7 S@¥ ga1s¢|
wy: frad 2 &t T e aedieTs @) Segar arg Az
1. dcam Sy &

2. IR TRuarsh &r

3. AGRIOT YTg bl

4. AT HSUTIE

Correct Answer :-
o dR fRuarsh &r

5) Rigre fRw IS a7 ypl arh &,
g¢ R ¥ oft a1 fhe | it sari <,



T g€ e B Frea W vgEr A,

T et ot A oY |a 79 7 31 A
THS IS1 I Fdaq §, 98 dadR R Y,
440 gl & 4 g0 gt wer 4,

T wS! Aei-t ag ol SR areht I A
FER F 1 F, Yeale g5 S 6,
wefiarg A, far $1 98 Har srdet A,
AT & H ygd! ot 98, A & G @et A,
TS, T, PUTY, P ST Fgt Aoert A
IR Rrarsht 3 My IHS! 918 Far A,
g&ot gRaitel & e A i Pt A,

T aS) AeiHl a8 af et arel T i
et i a1 gt it 95 W IRar @R,
39 RIS YAfdbd gid SHS! deaR] & R,
THel JH-gg DI 71 3R D1 G RPR,
= o1, gl dis1 2 A S i fewars |
S Ui $1 UgdR -4 UD W a1d U= $1 Ik Tarsgg|
wY: 9a15d & 5794 ¥ 59 sFUR & w1y agiiars. A1 @it o2
1. ¢k

2. Tl

3. e

4, TS

Correct Answer :-

6) Rigra fdw 33 wora=n A Yt ari A,
¢ YRd A oft o v A Tt S A,

Tt g€ ST A P T vgEEh R,

w p¥ft &1 S &Y J9= 91 | o At
TS 331 T Y1 ¥, 98 derar GRA A,
gad gralal & Yo gH Il P o,



T a9} AeiHl ag 4t et arel T i

FER & A1 B, Ygaral a5 oot I,
deHiars A, fUar #Y a8 Jar srdat oft,

AT & T ugd! ot g, A & ST Qe A,

TSI, T, UV, TR SAD! Ig waent A

IR Rrareh @} My IaH! are Fwar 8,

g graTel & Yo gH T Por o,

T TE! Aei-t ag ol S areht I A

aet <&t 71 gt < 95 W divan B EaR,

$E WIS YafPd gid SHS! aaaR| & dNR,

T G5-gg P TTAT 3R W1 G RIFR,

/= R, g s 3 A 39S g fewars |

ST U B UgHR 1 IS 9 a1 W= BT IR Jarse|
wy: Tt A A frae! fad gr o @1 aF A
1. fRurfeat @ = ¥

2. e & AL

3. AT & U5T |

4, TRIAET I ARG &

Correct Answer :-

. ROt &1 g &

7) Rigrae fda 33 wera=it A Yot arh A,
2 URa & off o e A 7t Srareit A,

T g€ el B Fraa T vgErE A,

T fraht &Y B F geq 77 A o ot
THE ISt T HAEH H, 98 aAaR R 6,
§3d geatel & Yg gH G perl A,

T TSl Aei-t ag ol S areht I A
FER & A1 B, Ygardl a5 oara A,
agHiaTs AW, frar $1 95 Hare el A,
AT & H ygd! ot 98, A1 & G Wet A,



TS, T, P, TR SHB! gt wgat A

dR Rrareht #t MUY TS a1E Tar A,

Yoo gedianl & 4g gH- gl werl o,

T IS} AeiHl a8 af et arel T A

et i a1 gt i 95 W Irar it EAR,

3T WIS YAfHd gid IAP! T@aR] & IR,

T GS5-E P 91 3R W GE RN,

/= B=n, gl s A 3 39 g f@wars |

S Ui $1 UgH -9 IR W a1d U= $T I} Farsy|
UY: TP I3 97 Fara_ B F {9 I $t R FRT forar war @2
1.1857

2.1957

3.1757

4.1657

Correct Answer :-

e 1857

8) Rigr+ few 3¢ wwa=n A ypet arit A,
¢ YR & ot 31 v & =7t Srarh <A,

Tt g€ STeid) Y Frua Fe gErE o,

w p¥ft &1 A &Y J9= 91 | o At
TP IS T AG H, 9§ dadR R 4,
Yoo gearal & He gaq it wer A,

T aS) AeiHl ag df et arel T i
PHEYR P AT B, Yeaten 98 Batet &,
deiarg A, fUar 3t 95 Ha sraat o,
AT & T g <t 98, A1 F FT Qe o,
TS, T, PUTY, TR SHS! Fg! Aoert A
IR Rrarsht 3 MU IHw! 918 FaE A,
9¢d gearal & He gaq il wer A,

T a3} g+ a8 ol S areft I i



aeet <&t a1 gt <t 95 W i B sEaR,

$E WIS YafPd gid SHS! aaaR| & TR,

TP G5-gg Pt TTAT 3R W1 G RPN,

A= TR, g A A 2 39 g f@wars |

ST U B! UgHR 1 IS 9F a1 W= T Ik Jars|

uY: HarEl 3 deft ok gl HeHR W defiarg # fhaeT saar wer 82
1. el T

2. Urddr &t

3. 9T HI

4. Mol HI

Correct Answer :-

o dRAT &1

9) Rigrr fRa 33 Twrazi = Yt arit <,
¢ YRa # +ft o v | Tt sart A,

T g€ el B Praa T ugEE o,

o faft 3t B 3t Ja w49 & o At
THE ISt T HIG H, 98 aAaR QR A6,
T30l gearel & 96 g9 g Per O,

T wE! Aei-t g ol S areht I A
FER & A1 B, Ygardl a5 oara A,
agHiaTs AW, frar $1 95 Hare el A,
AT & H ygd! ot 98, A1 & G @et A,
TSN, T, PUVT, HeRl ITS! TE! TReit A
9} Rrarelt Ft M TS a1g WA A,
gaet gRatal & He gH gt dort &,

T wE! Aei-t g ol S areht I A
ae&Ht <t a1 gut i 98 Tad dRar Y AR,
9 A1 Gaford gid IS aaaR] & IR,
THdl JF-Yg DI 7T R QT G RPR,
/=7 R, gl die 3 A 3 g fawars |



ST Ui $1 UgH 19 IR WM a1dd U= $T Ik Farsy|
TY: SARA A I AgHEIg t ol feas g I gt A
1. fpdll @ &

2. geoli-gxallell &

3. 370l ATl &

4. 3707 T & @ H

Correct Answer :-

10) Rigra few I worEsn 3 Y@t ari o,
¢ YR ¥ ot 3 v & =7t Srarh <A,

Tt g€ Sreird) o Frua T veErE o,

W ¥ft &1 A &Y J9= 91 | o At
TP I3 I WA H, 98 daarR R A,
Yoo gearal & He ga gl derl o,

T IS} AeiHl ag df et arel T i
PHEYR P A1 B, Yeare 98 Batet A,
detarg A, fUan 3t 9 Har st o,
AT & T g <t 98, AT F FT @ o,
TS, T, PUIY, TR TS Fg! Woert A
IR Rrarsht & MU IHwt a1g Far A,
9¢d gearal & He gaq il wer A,

T a3} g+t a8 af i areft I i
et i a1 gt <t 95 W IRar Ft @R,
39 RIS gafed gid IUP! qOaR] & IR,
TN G5-gg P 1 3R Qe Gd R,
= R, g dis 3 A 3 g fewars |
Iue U= ) Ugeh? Y YR 9 a1 R o7 3@} §a1s¢|
TY: 39 HIqaT § YR B g1 FI HT 7497 82
1398 & PIg T

2. a1 & 3w F=AT F HROT



3. AIRA &1 UriIdr & &RoT

4. QA T YPT & HROT

Correct Answer :-

o AR T YT & HROT

11) Rigraa few IS woEsn 3 Y@t ari o,
¢ YR # ot 3 v & =7t Srarh <A,

Tt g€ Sreid) o Frua T gErE o,

w p¥ft &1 A &Y J9= 91 | o At
TA® IS1 I Idaq H, 98 dadR R o,
Y¢d gearal & He gaq it wer A,

T IS} AeiHl a8 df et arel T i
PHEYR P AT B, Yeaten 98 Batet 8,
detarg A, fUar 3t 9 Har sraat o,
AT & T ugd! <t 98, A1 & AT Qe A,
TS, T, PUIV, HRI SHS! Fgt Aot A
IR Rrarsht &Y MU IHS! 918 Far A,
Yoo gearal & 4e gH g derl A,

T a3} gt a8 f S areft I i
et ff a1 gt i 95 W Iran Ft @R,
3@ WIS gafed gid IS aAaR] & IR,
TN G5-gg P 3T 3R Qe Gd R,
= R, g s 3 A 39S fira fewars|
IuYe U= ) Ugeh? Y YR 9 a1l R T 3@} §a1s¢|
TY: $ HIdaT | et e o1 741 32

1. Q9T | 3T geanferal &l

2. ToieAepT Ta1 TRT 1T &

3,370 § 3T HIT &

4. 579 @ 3T BT

Correct Answer :-



12) Rigree fea I wora=n 3 Yyt art A,
¢ yRa A oft o v A it o A,

Tt g€ ST A B T vgEEh R,

w p¥ft &1 A &Y J9= a1 | T At
TS I3 I WA H, 98 dadR R A,
§3d gl & Y gH Gl werl i,

T IS} AeiHl a8 df et arel T i
PHEYR P AT B, Yeaten 98 Batet o,
deiarg A, fUar 3t 9 Ha st o,
AT & T ygd! <t 98, A & ST Qe A,
TS, T, PV, TR SHS! Fg! Aoert A
IR Rrareh #t MUY IaH! arg Fwar 8,
§3d gl & Yg gH il perl i,

Qe a3} gl a8 f St areft I A
et it a1 gt <t 95 T drar Ft @R,
W RIS gafed gid IS aOdR] & dR,
TN G5-gg I 3T 3R DT Gd R,
/= W=, g s A 3 39 g fawars |
ST U B UgHR -1 I 9 a1d W= T IR Jarse|
TY: 3 BAdT & YR W ga1zd & Fafeh &1 whd fraat ok 32
1. ITSIRTG Qerar & 3R

2. 3G Fr AR

3. ARY O &1 3R

4. AT i TA A 3R

Correct Answer :-

o G P [ A IR

13) Rigra= fga 33 Iea=n = Y@l ari <R,
g¢ R ¥ oft 3 fie & =it sari <,



T g€ e B Frea W vgEr A,

T et ot A oY |a 79 7 31 A
THS IS1 I Fdaq §, 98 dadR R Y,
440 gl & 4 g0 gt wer 4,

T wS! Aei-t ag ol SR areht I A
FER F 1 F, Yeale g5 S 6,
wefiarg A, far $1 98 Har srdet A,
AT & H ygd! ot 98, A & G @et A,
TS, T, PUTY, P ST Fgt Aoert A
IR Rrarsht 3 My IHS! 918 Far A,
g&ot gRaitel & e A i Pt A,

T aS) AeiHl a8 af et arel T i
et i a1 gt it 95 W IRar @R,
3@ RS gafed gid IUP! qOaR] F IR,
THel JH-gg DI 71 3R D1 G RPR,
= o1, gl dis1 2 A S i fewars |
S Ui $1 UgdR -4 UD W a1d U= $1 Ik Tarsgg|
TY: $9 BT & YR W Fa153 {6 dgHians & foan His-agd 42
1. Bfaar & sgFr g 5 Tel ol

2.9 A AE Bl

3. &S U Tar fr srhell dara 2
4. Th HIS-UP e

Correct Answer :-

o FEHES U TUar Hr dhell AdT A

14) Rigra= it 3 Tora=y 7 Yyt art 0,
¢ YR & ot 3 v & =7t Srarh <A,

Tt g€ STeid) o Frua Fe gErE o,

w p¥ft &1 A &Y J9= 91 | o At
TP I3 I WA H, 98 dadR R A,
gad gralal & Yo gH T P o,



T a9} AeiHl ag 4t et arel T i

FER & A1 B, Ygaral a5 oot I,

deHiars A, fUar #Y a8 Jar srdat oft,

AT & T ugd! ot g, A & ST Qe A,

TSI, T, UV, TR SAD! Ig waent A

IR Rrareh @} My IaH! are Fwar 8,

gad el & He g G perl A,

T TE! Aei-t ag ol S areht I A

aet <&t 71 gt < 95 W divan B EaR,

$E WIS YafPd gid SHS! aaaR| & dNR,

qHel gG-ogg DI T 3R [T G RI1R,

/= R, g s 3 A 39S g fewars |

ITe U= ) Ugeh? 9 YR 9 a1l R &7 Swi¥ Sd1s¢|
wy: I Aefiars Ft daaIR! P IR T@HI DI YAt gid A2
1. 31T

2. Tl

3. IS

4. IMIDdTS

Correct Answer :-

15) Rigram fear I Teax A Yyt arit A,
¢ YRa # ot o v & At st A,

T g€ el B Fraa T vgEr A,

o f5aft 3t B 3t e g9 F o <At
THE ISt T HATEH H, 98 aAaR R 6,
440 gRaiel & He ga i et 4,

T wE! Aei-t ag ol S areht I A
FER & A1 B, Ygaral a5 oara A,
agHiaTs AW, frar $1 95 Hare el A,
AT & H ygd! ot 98, A1 & G @t A,



TS, T, P, TR TSI gt wgat A

IR Rrareit @t MU IFDT A1G T A,

Yoo gedianl & Yg gHd gl werl o,

T ) AeiHl a8 af et arel T i

et A a1 gt i 95 W Irar @R,

3G WIS gafed g ITS aaaR) & IR,

T G5-g Pt 91 3R Ve GE RN,

A7 A, gl e A A 39S g f@wars |

ST Ui H1 UgH 19 IR WH a1d U= BT I} Farsy|
UY: g Biaar A ‘Rigra w387 # fras RigRe & 2w 3o &1 e 22
1. oS Selglsh &

2. 33T &

3. AR RIradr &

4. HERTAT freFaiRar &

Correct Answer :-

o ARAET RI™Ear &

16)m&r#mmaﬁqﬁhmmmﬁmmwm“ﬂﬁmmgmlﬂm
wﬁﬁﬁmwaﬁwammmmwﬁW#EW|mwrﬂmma}-mw
gt afew e, SiTdhar, F&pha, e & YR T §3m S aAwmels, IS AR FRES| AR wE A
GO0 TOET o Tt Fr s M| AN WRUGT ¥ Reat s ST Y T W @ aSt A€ Ry ¥R
IMAFNF 711 F w9 F Agar A AfFa Bl Faa 40% arcat 7 arqgem 31 safed gl smamat
W ¥ Y F§ waue s = {D F e, 21 w7 i B @R q@nn R s w1 gt R
AT g1 AT F 91 & HAFT THT F T F1 R-FD a5 & O F= Hr AfRver Jg i a1

Fg IR o F e 7 AR Tsw F M F Redl § qadted § earlt ey syawyr #1 3R w9 B
I F 91G TF o AT dF ARd & SR feal & &g 3K 0o7 & wF @ ot 1 wWER gIm FA
A 37 el 9RT & FAF T AN Todr ot 57 el & g TWER IFW T5T TFR F ¥ &fr
Jagerel FICA Al ToT FIHR E@RT SO-H ot Fafean @@ W #¢ oAl W Usgufay e o FT o
Srar

1989 & 91 ¥ Fg #H Toaus TSR & N TTl SHF IRUMATIRT Ted TFR I TIRAdT & AT 3R
m#mﬁaémamsélﬂmmmm%ﬁmmﬁmmmmmﬁ
gl 1991ﬁm#mm#woommw%lwmﬁﬁwmaﬂmﬂ#mﬁ
mm%umﬁmm Farefl, feaEs), shwE), T, aﬁaﬁaﬁra%aramaﬁafr%ﬂ’ra:
mﬁwwélﬁmﬁfmaﬂa;mma;maﬁm#114mm%lsﬂ'ﬁr#zzmmﬁa#
m%mm#mmmﬁm#mm%lﬂmmﬁammw
ST R

3YYFA TCHTA FT YGHT AT G& AT YT FT el IABTI
YeT: S T gl $T $g & TR N A ToT WHRE F AAFRT 1 F41 FIcdr A2



1. OTeled

2. Jdgelem

3. HATA-GFAT
4. S el

Correct Answer :-

17) &R & & NFAIF Tavdm H Teeht FI a1 T §§ T 7 W ITUING ToA FT ASA FIAIT WM
wﬁﬁﬁmmaﬁwammﬁmmwﬁwﬁwwlwﬁmmmﬂ:mw
gl afew spie, SiTdhar, §&pfa, e & IR T §3m S s, mgaﬁramlm?ﬁwwa?r
q:aﬁﬁma"ruﬁa?rm:nﬁnmﬂﬁm#ﬁmﬁaﬁmaﬁwmmﬁﬁaﬁﬁw%l%ﬁaﬁ
nfaFRE amer & w7 A Awgar el afera B Faa 40% aRchAt A argemr 31 safad qEdr s A
W & O F§ gaue s = {H F reman, 21 e qwisHt B @R @ seaiRa e w1 gat R
TAT B A F 91 F AWRT THT F BT F - e F O I Fr Fifdrer ag fr a1y

g IR ToT F e 7 AR Tsw F T F Redl § qaded § eArt wdy syawyr # 3R q@ @Bar
HSE! & 96 TF o AT dF ARd & SAeR feal & &g 3k 50 & & @ 9l fY R gam Fcdr
ft| 37 Rl oRa & FaE @ AN T @ 3T [l F Fg WHR HFE ToT TWHER F HASRT $
Jagee Xt il Uo7 WHER g@anr S-H off Faafear REw o 7§ vsa o yeeufa amwer Ay X R
ST ATy

1989 & dC ¥ g H IGaUT TSR FT R Tl FHF IRUTATAFT o TIFR T TREAAT & TFAE 3K
mﬁmﬁﬁmawﬁlwmmm%%mmﬁmmrﬁmm
1 1991 F JAINVEAT F HTAR AR A 1500 AT | TS 1 F& TET AN & THF A
wwélmﬁmaﬂm HaTell, AW, BAIGIE!, TSI, sﬂaﬁmaréﬂﬂmaﬁaﬁ%ﬁa;
W#ww%lﬁﬁmmaﬂ$mma;maﬁm#114mw%ls?mﬁzzaamaﬁafr
ﬁﬁmémaﬂﬁzﬁa@ﬁmmﬁaﬁmﬁmw%lmmﬁﬁa—mﬁamm
STar §

39T AGHIT T IGH AR Y& AT T FT 3cal IaBT
weeT: AR 'Y Y gEdt qdam w2 e

1. Trsgureil & Agfh

2. qSIT &1 IS

3. aTaT-Af

4. Jrgufa & @ara

Correct Answer :-

o HTuT-AfY

18)mmr#mwﬁqﬁﬁﬁmaﬁe?mmwmﬂ—mmmgmﬂm
wﬁﬁﬁvmwaﬁwé’fmﬂaﬁaﬁaﬁwé’twﬁwﬁlWu—q‘ra?rmﬂma?anuww
T8 afew e, ST, awﬁrma:mwgan Y Armels, maﬁtmlamwa?r



{aﬁmﬁmﬁmmﬁlmaﬁm#msﬁmaﬁwmmﬁﬁaﬁﬁm% %?fr
nfaFER® s & w0 F Aegar el afFa R Faa 40% st A arqgemar 81 safod qudr smmat
Wl F O #§ yaue o a3 R F sreman, 21 7 st F Wi garn s s v aa‘rﬁvn
:rq'r%lM$m$mrmﬁﬁﬁaﬁﬁ1%ﬁm#mﬁaﬁﬁmraﬁﬁ?¢l

¥ IR TS F R Fg 3R Tow F T F Rl F Grted @ AR WHT sy # AR g9 e 2
A & 91§ TH o4 AT dd AR F IR BEal & &g 3R o7 & v @ adt fr R g3m a3
ol 37 Rl ARG # FAT H AAGN T A 3T A F $g TWER IFW ToT WHR F HUSRT Y
Frageret I A TT WHR @R S-W oft TaafRar REe w #§ vsat w0 wsgufay amwar @y w1 far
ST ATl

1989 & 91 ¥ Fg #H Toaus TSR HT N TTl SHF INUMATERT Ted AFR I TIRAAT & A 3R
m#aﬁaﬁﬁaﬁqﬁq@rams‘élﬁwmmm%%mmﬁmmwmmﬁ
gl 1991#m*mm#woommm%lﬁmaﬁa:‘rmmmaﬁﬂ;m#
mw%lma?msnm #orell, qeer@st, SAEed), TSTEywE, sﬁaﬁaﬁtﬁéﬂmaﬁas‘r%a"ra;
m#ww%lﬁﬁmmaﬁa:mma;maﬁm#114mamw%ls?mﬁzzaamaﬁafr
ﬁﬁm#aﬁa@?&zﬁa@ﬁamﬁaﬁﬁwﬁwm%lmmﬁaﬁ%a@ﬁamw
ST &1

394Fd AGHIT T IGHF A & AT ToA FT 3cal qarzvl

WeeT: AT & 91¢ @9 AT dF &g AR 3AFr T # Faad ga@f ff WER T?
1. TH

2.2

3.d

4. IR

Correct Answer :-

19) &R AU # NFANIF Taedm H Teeht FI e 9 §§ T 7 W UG ToA FT ASA FIT WM
sﬂﬁﬂﬁmwaﬁwﬁmmmmwaw#wmﬂwﬁmmm#mw
gl afew spie, SiTdhaar, F&pfa, e & YR T §3m W aAmmels, maﬁtmlmtrwa?r
mwmmqﬁﬁmmﬁrlmm#mmwaﬂwmmmaﬁﬁw%lfﬁraﬂ
arfaeReE o & w7 # Awgar Aol Afra B Faer 40% dRAAT it Agamer ¥ safod qEdt s A
W & O #§ yaue o a3 R F sremar, 21 37wt w wlaue qan s s & g R
mn%lma:m*mﬁwrmﬁﬁﬁaﬁm%ﬁM#aﬂﬁmﬁaﬂﬁﬂaﬁﬁﬂél

¥z 3R T F R ¥ Ak vow & M F Redl F qovied § g W sgaedm # 3R g@ @B
AT & 91§ Th od AT a6 AR F IR REal & &g 3 o7 & v @ adt fir WHER gar
A 37 el 9RT & FAF T AN Tod! ft 57 el & g TWER IFW [T TFR F ¥ &fr
Iagerel FICA Al o FIHR E@RT SO-H ot Fafean R@e W #§ Todl W wsgufay amde &6 #T o
STt ATy

1989 & dC ¥ g H ISTUdT WHR FT R ol FHF INUHATAFT T TFR T TREAAT & TFAE 3K
m#maﬁa?trﬁtrraawglmmmm%ﬁﬁm#mwwmmﬁ
gl 1991a?rma:mﬂm#woommm%lwwaﬁa:‘rwmmaﬁa?mﬁ
ww%lma:maﬁm Farefl, feaEs), Shwd), TerEUwE, aﬁaﬁaﬁtrgﬂmaﬁafri%?ﬂa;
W#WW%Iﬁﬂﬁl‘mﬁﬂ?Wmﬂ?maﬂW#114mW%l3?#@'22%3#?#



AU & red e A IqyfAd st f fawe F @ wAr ¥l e smwist Fr Sr-areqqfAd smer wer
STl &1

3YYFA TCHTA FT YGHT AT I& AT YT FT el IABTI
ma:maarﬁmmmma?rqmﬁﬁﬁmaﬁgé?
1. GIAYT S A FHI

2. GIAUT o] A AT

3. HINER T2l & 6 & qHI

4. fadaa & g

Correct Answer :-

o HYTOR TSAT P TS b TAI

20) AR & # WHAS FIEAT H Tgell FI T q9 g§ T HNT W IUIRG TSI FT ASA FIT ¥
wﬁirm“mmﬁwaﬂmmmmwaw#rgmﬂWn—mmmma:mw
¢ afew spie, ST, §pfa, Ife & YR W g3m S s, FwrEs 3R sREsl SRA §w A
@l Then ot gt # e Sl gAR GRUET A Rear s sTNT F) TSy sTNT @ ast A R ¥ R A
nfaFReE amer & w7 & Awgar el afra Fh Faa 40% sehAt A Frgem 81 safad qEdr s A
W & O #§ yaue a6 a3 R F sreman, 21 s o9 & @foura qanT serqEa s # g R
aqu%laTaﬁW?ma;aﬁmmm#f?&rﬁ?k%ﬁ&ﬁTﬁ%ﬂﬁaﬁﬁmraﬁaﬁﬂél

Fg AR T F Rea: &g AR T5T & fw F Redl F qoden ¥ eA vy sgaedwr 3R q@ @Rar §
HAE F 91 Th a9 TAT dF HRd & sy ffral # &g 3R 157 & v @ adt f sWaR g3 wIcd
ff| 37 Rt e & Fidw @ A T A ST Bl A PE AWHR HFE T5T TER F AR Hr
Iageret FCA Al ToT FIHR E@r’l S-H ot Faafedn fE@me ot #¢ Jed I Tseufa amda o FT o
ST 97|

1989 & ¥ ¥ Fg # Ioatd WFHR FT aR Tl SHF INUMATIRT ToT FIFR HT TREGAAT & FFAE 3R
w1 H et A A% RO % gE| X1 FET o b1 § 3T AR F FNT cyawwn FE HUF yaw g
gl 1991ﬁm%mm#woommm%lﬁmaﬁaﬁwmmaﬁa:m#
ww%lmﬂ;msﬂm Farefl, A, SAWIAL, TSTEAT, sﬁaﬁs:ﬁtaréﬂmaﬁaﬁ%a’r%
m#mm%lﬁﬁmmaﬂ$mm$maﬁm#114mw%l F 22 w3t &Y
m*mmﬁmmaﬁaﬁmﬁmm%lmmaﬁﬁwmmw
SITar #

39T ACHIT FT YGH AR Y& AT T FT 3ca IaBv
veeT: RS & Fa awg i 5 F ® F Agar F@d?
1. SATTHTST

2. fred ®U A A&

3. TEHTT

4. JTTYPIG HTHT

Correct Answer :-



21)m&r#mﬁmmﬁwwﬁmmﬁmmwm“—ﬁmmgmlﬁm
wﬁﬁﬁmwaﬁwammmmwﬁW#EW|mwrﬂmma}-mw
gl afew sle, SiTdhar, F&pha, e & YR T §3m ¥ aAwmels, IS 3R FRES| AT wE A
GO0 TOET o Tt Fr s M| AN WRUGT ¥ Reat s ST @ qg W @ ast A€ Reaw ¥l R
IMAFNF 791 F w9 F Aegar A AfFa Bl Faa 40% arcat 7 arqgem 31 safed gl smamat
W F fod #§ yraue qad = R F raman, 21 3wt B Gfauer @ weqqRa S w1 gt o
AT g1 A F 91 & HAFT THT F T F1 R-FD a5 & O F= Hr AfRver Jg i a1

g IR o F e 7 AR Tsw F M F Redl F qadted § earlt ey syawyr # 3R w9 B
I F 9IC TF o AT dF ARd & SR feal & &g 3K 057 & wF @ ot fr wWER gIm FA
Y| 39 el 9Ra & FAF T AN Todr ot 57 el & g TWER IFW TsT TFR F ¥ &fr
Jageret FICA Al ToT FIHR E@RT - ot Fafean @@ W #¢ Todl W Usgufay e o6 FT o
Srar

1989 & 91 ¥ Fg #H Toausl TSR & N TTl SHF IRUMATIRT T TFR I TIRAaT & AT 3R
m#mﬁaémamsélﬂmmmm%ﬁmmﬁmmmmmﬁ
gl 1991ﬁm#mm#woommw%lwmﬁﬁwmaﬂmﬂ#mﬁ
mm%umﬁmm Farefl, g, SNwE), T, aﬁaﬁaﬁra%anrmaﬁafr%ﬂ’ra:
mﬁwwélﬁﬁm{maﬂa;mma;maﬁmﬁn4mm%lsﬂ'ﬁr#zzmmﬁa#
m%mm#mﬂmaﬁﬁﬁw#mm%lﬂmsﬁaﬁwmmw
ST 2

3YYFA TCHTA FT YGHT aAld & AT G FT el a0l

TRT: T WP ganT -4t off Fgarfear @t o« Usal & @1y &4 giar ar?
1. 3efaTel # heldl

2. Trgufd AHA 9L

3. A H &l

4, gradTd A ey

Correct Answer :-

22) AR U # WNHAS FIEAT H Tgell FI GO q9 g§ T HNT W IUIRG TSI FT ASA FIT ¥
wﬁirm“mmﬁwaﬂmmmmwawﬁrgmﬂWn—mmmmﬁmw
gl afcsd spie, SThaar, FFpfa, fe & YR W gam S AR, maﬁrmlmwﬁ
@l olen ot gt # s oAl gAR GRUET A Reat s HTNT F) Usg ST @ ash A R ¥ R A
IAFRE 5T & T F Aegar A afFa B Faa 40% arat 7 arqgemer 81 sl gl smamat #r
W & O #§ yaue a9 11 {H F sramn, 21 37 szt F GRUe @ saRa s w1 gt R
aqu%lm$m$aﬁmﬁrm#f?€raﬁﬂtf?ﬂm#mmaﬁmra€raﬁnél

Fg AR T F Reak: ¥ AR Tow F fw F Redl F qodon F gAN wHly sgaedwm 3R q@ @Bar §
HSE! F 96 TF o AT dF ARd & AR el & &g 3k 150 & wF & adf fY TR gam Fdr
ff| 37 Rt sRa & Faw B AAEr) T @ T [t F Fg WHR HFE ToT TWHR & AR $
Fageret Fat fl ToT TWHER @ -t Y FEaRRar fEe w w§ usal W aseufa amwer |y w0 R
ST o



1989 & dC ¥ g H ST WHR FT R Tl FHF INUTHATAFT T TFR T TREAAT & TFAE 3K
mﬁa@amaﬁraéqﬁqmawglﬂmmmm%ﬁ;mmﬁmmrﬁmmgﬁ
1 1991 F VAT F HTAR AR A 1500 HAT-3AT AW &1 FoT I FT F& T&T AN & THF A
wwélmﬁmaﬂm Farefl, GRS, SAWIAL, TSTEAT, aﬁaﬁmaréﬂmaﬁaﬁ%ﬁa;
W#T@TW%Iﬁ'ﬁ!ﬁrmsﬁé?Wma?maﬁmﬁﬁ4mm%l3?##22“3#3#
ﬁﬁuﬁémaﬂﬁzﬁa@ﬁmmﬁaﬁmﬁmw%lmmﬁﬁa—mﬁamm
STar §

39T AGHIT FT IGH AR & AT Fed FT 3ca IaBT
geeT: S{ANe, ST, I, MG F IR W g § et Al #1 16 gamr?
1. el ANIS

2. had IRES
3. hadl AW

4. 30 |

Correct Answer :-

« 3UH HM

23) §AR AW A AlheliAh AT HT Tgell F31 T TG § Wi« SN G U ASAT BT TS g3 AT
ﬂmmwmwammmmwawﬁwwlﬁsrr—cr’rmmama:mw
7t afew e, SrdFaT, @i, aﬁ#mwgm S ArTels, mmgaﬁtsrmlm?htrwaﬁr
mﬁmﬂmﬁmmlmaﬁmﬁmaﬁmﬁwmﬂmﬂﬁm% | R =t
anfaFRe o & ®7 # Awgar el afre RdFadd0% s, Argem 81 safed qudt s fi
W & O 7§ yaue a9 93| R F a2 e Js # @ qan s S w1 ogen
mrr%lma:m#aﬂwrm#%ﬁﬁﬂtﬁﬁﬂﬁ#mmﬁﬁmraﬁﬁﬂél

Fg AR ToT F Reek: ¥ AR Tow F fiw F Redl F qoved § gAN wHg sgaEdwm 3R g@ e §
HSE & ¢ Th od AT d HRT & IR Real & &g 3R 157 § v & adl fY R gam Fcdr
f| 37 Rt R & Fdw B AAEr) T ) T RFet F Fg WHR HFA ToT TWHR F AR H
Iagere I ANl ToT THER g@rn S-HT sft FEafean R@e T 3§ Tedl W Usgufa AT oe) #T fear
ST ol

1989 & 91 ¥ Fg #H Toau« TSR T N TTl SHF IRUMATERT Ted AEHR I TARAAT & AT 3R
m#aﬁaﬂﬁa@qﬁwﬁawﬁlﬁmwwm%ﬁ?ﬁmﬁmma@rmmﬁ
gl 1991ﬁm#mm#woommmmamsﬁa:‘rwmmaﬁ#m#
mw%lma:msnm #arell, geaws), SAwId), T, sﬁaﬁaﬁtaréﬂmaﬁaﬁm’r*
m#mm%lﬁﬁmmm$mm$mmm#114mm%lmﬁzzarmaﬁas‘r
m*mﬁmﬁa@ﬁamﬁﬁﬁw#ww%lmmﬁﬁaﬂ@ﬁmmm
ST #

39T AGHIT T IGHF A Y& AT ToA FT 3cal qarsvl

e Fg AR ToT & AT F Readl & Grtes § weliw sgawwr # Ak w41 Fem?
1. =

2.9

3. URMAA



4. AMMHA

Correct Answer :-

24)marﬁmmﬁmﬁmmﬁmmwmwmmgmlt"m
ﬁﬁﬁmwaﬁwammﬁmmwawﬁrgmmWuﬂﬂmmm%‘mw
gt afew e, SiTdhar, F&pha, e & YR T §3m ¥ aAFmels, IS AR FRES| AR wE A
GO0 TOET N TEt Fr s M| AN WRUGT ¥ Reat s ST Y qg W @ astt A€ Ry ¥l R
anfaeRe amer & w7 # Awgar e Afea B Faa 40% At v Agamer 31 safod qEdt s A
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Topic:- General English(L2GE)

1) Read the content and answer the question given below:

Nowadays, it has become fashionable for college students to go to their academic institution on
motorbikes. They ride very fast overtaking heavy vehicles, neglecting the road-bumps and
consider themselves heroes just like in the movies. Today, our industries and transport depend
heavily upon petroleum products which are non-renewable. The facts and figure show us that
petroleum products are fast depleting. So there is a need to conserve them. As students, what is
our role in conserving the sources of energy? Students should learn the ways of conserving these
sources and create awareness among the people at the same time. They should set examples
themselves by conserving energy. One way to do this is by travelling to and from schools/colleges
either on foot or by bicycle instead of using fuel burning vehicles. They may urge their parents
to minimize the use of cars for traveling and instead use the public transport system for the same
because cars consume more petrol comparatively. Students should use fans and light at home,
only when they are absolutely essential. They should urge schools/colleges authorities to ban the
use of motorbikes in the school/college premises. Isn't it time we do this to conserve energy
sources? For, it is in the hands of the youth to begin this project.

What can students do to conserve energy?
1. Not go to college

2. Travel by bullock cart

3. Go by bus

4. Use cycles and go on foot

Correct Answer :-

« Use cycles and go on foot

2) Read the content and answer the question given below:

Nowadays, it has become fashionable for college students to go to their academic institution on
motorbikes. They ride very fast overtaking heavy vehicles, neglecting the road-bumps and
consider themselves heroes just like in the movies. Today, our industries and transport depend
heavily upon petroleum products which are non-renewable. The facts and figure show us that



petroleum products are fast depleting. So there is a need to conserve them. As students, what is
our role in conserving the sources of energy? Students should learn the ways of conserving these
sources and create awareness among the people at the same time. They should set examples
themselves by conserving energy. One way to do this is by travelling to and from schools/colleges
either on foot or by bicycle instead of using fuel burning vehicles. They may urge their parents
to minimize the use of cars for traveling and instead use the public transport system for the same
because cars consume more petrol comparatively. Students should use fans and light at home,
only when they are absolutely essential. They should urge schools/colleges authorities to ban the
use of motorbikes in the school/college premises. Isn't it time we do this to conserve energy
sources? For, it is in the hands of the youth to begin this project.

What do motorbikes symbolize to students, according to the writer?
1. Power

2. Transport vehicle
3. Fashion

4. Channel

Correct Answer :-

e Fashion

3) Read the content and answer the question given below:

Nowadays, it has become fashionable for college students to go to their academic institution on
motorbikes. They ride very fast overtaking heavy vehicles, neglecting the road-bumps and
consider themselves heroes just like in the movies. Today, our industries and transport depend
heavily upon petroleum products which are non-renewable. The facts and figure show us that
petroleum products are fast depleting. So there is a need to conserve them. As students, what is
our role in conserving the sources of energy? Students should learn the ways of conserving these
sources and create awareness among the people at the same time. They should set examples
themselves by conserving energy. One way to do this is by travelling to and from schools/colleges
either on foot or by bicycle instead of using fuel burning vehicles. They may urge their parents
to minimize the use of cars for traveling and instead use the public transport system for the same
because cars consume more petrol comparatively. Students should use fans and light at home,
only when they are absolutely essential. They should urge schools/colleges authorities to ban the
use of motorbikes in the school/college premises. Isn't it time we do this to conserve energy
sources? For, it is in the hands of the youth to begin this project.



What is the main risk they take?

1. Travelling by bicycle

2. Taking shortcuts

3. Speeding and overtaking heavy vehicles

4. Slow driving

Correct Answer :-

» Speeding and overtaking heavy vehicles

4) Read the content and answer the question given below:

Nowadays, it has become fashionable for college students to go to their academic institution on
motorbikes. They ride very fast overtaking heavy vehicles, neglecting the road-bumps and consider
themselves heroes just like in the movies. Today, our industries and transport depend heavily upon
petroleum products which are non-renewable. The facts and figure show us that petroleum products
are fast depleting. So there is a need to conserve them. As students, what is our role in conserving
the sources of energy? Students should learn the ways of conserving these sources and create
awareness among the people at the same time. They should set examples themselves by conserving
energy. One way to do this is by travelling to and from schools/colleges either on foot or by bicycle
instead of using fuel burning vehicles. They may urge their parents to minimize the use of cars for
traveling and instead use the public transport system for the same because cars consume more
petrol comparatively. Students should use fans;and light at;home;only when they are absolutely
essential. They should urge schools/colleges;authorities to ban the,use of motorbikes in the
school/college premises. Isn't it time we do this to conserve energy sources? For, it is in the hands
of the youth to begin this project.

Whom do they compare themselves with?

1. Adventure lover
2. Dare devils

3. Sports people

4. Movie heroes

Correct Answer :-

o Movie heroes

5) Read the following lines of a poem and answer the question given below it.

I can hear them



And they're no longer there,
Crying for a hand

That I couldn't spare.

I can see them,
Though I will not look,
Reaching for the time

That I never took.

I can feel them
Pulling at my sleeve,
Asking me to stay,

Knowing that I'd leave.

And there’s no way

That I could help them all.
But can I even say,

When all is said and done,
That when I had a way

I stopped to help just one?

According to the poem, the poet

1. All of the above

2. could not spare a hand
3. did not stay

4. did not look

Correct Answer :-

o All of the above

6) Read the following lines of a poem and answer the question given below it.

I can hear them



And they're no longer there,
Crying for a hand

That I couldn't spare.

I can see them,
Though I will not look,
Reaching for the time

That I never took.

I can feel them
Pulling at my sleeve,
Asking me to stay,

Knowing that I'd leave.

And there’s no way

That I could help them all.
But can I even say,

When all is said and done,
That when I had a way

I stopped to help just one?

The poet could them?

1. See them but not hear

2. Hear, see and feel

3. Hear them but could not feel
4, Hear them but not see

Correct Answer :-

» Hear, see and feel

7) Read the following lines of a poem and answer the question given below it.

I can hear them



And they're no longer there,
Crying for a hand

That I couldn't spare.

I can see them,
Though I will not look,
Reaching for the time

That I never took.

I can feel them
Pulling at my sleeve,
Asking me to stay,

Knowing that I'd leave.

And there’s no way

That I could help them all.
But can I even say,

When all is said and done,
That when I had a way

I stopped to help just one?

What could the poet not spare?

1. Clothes
2. Money
3. Help
4. Time

Correct Answer :-

« Help

8) Read the following lines of a poem and answer the question given below it.

I can hear them



And they're no longer there,
Crying for a hand

That I couldn't spare.

I can see them,
Though I will not look,
Reaching for the time

That I never took.

I can feel them
Pulling at my sleeve,
Asking me to stay,

Knowing that I'd leave.

And there’s no way

That I could help them all.
But can I even say,

When all is said and done,
That when I had a way

I stopped to help just one?

Is the poet happy that he helped someone?

1. No, because he did not help even one person
2. Yes, he did not have to help anyone

3. Yes, he helped many people

4. The poet is neither happy nor unhappy

Correct Answer :-

« No, because he did not help even one person

9) Choose the appropriate synonym for the highlighted word in the given sentence.



Meditation is the absolute solution for finding out the inner peace.
1. outright

2. approximate

3. limited

4, accountable

Correct Answer :-
e outright

10) Fill in the blank with the most appropriate conjunction.

My teacher calls me on stage whenever there is an event ______ | speak well.
1. because

2. but

3. and

4, so

Correct Answer :-
e because

11) Fill in the blank with the correct option in the given sentence:

The were assigned hard tasks during their probationary period.
1. trainee
2. trainer
3. training

4. trainees

Correct Answer :-

o trainees

12) Choose appropriate articles for the given sentence:



As election gimmick, government has announced savings scheme for senior citizens.

1. no article required, a, the
2. a, an, no article required
3.an, the, a

4. the, no article required, the

Correct Answer :-
e an, the, a

13) Choose the appropriate option that rewrites the given sentence in its active voice.
Tea is being brewed in the kitchen by the husband.

1. A husband was brewing tea in the kitchen.

2. Husband brews tea in the kitchen.

3. The husband is brewing tea in the kitchen.

4. The kitchen is brewing tea by the husband.

Correct Answer :-
« The husband is brewing tea in the kitchen.

14) Choose the appropriate tenses to fill in the blanks in the given sentence:

Myfriend __ on a holiday in Greece and a great time.
1. has gone, has had

2. is, is having

3. is going, had

4. shall go, shall have

Correct Answer :-

« is, is having

15) Choose the appropriate antonym for the highlighted word in the given sentence.

Orthodox Jews observe strict dietary laws among other things.



1. Customary
2. Unconventional
3. Rationalistic

4, Traditionalistic

Correct Answer :-
e Unconventional

16) Choose the appropriate pronouns for the given sentence:

__ should take care of own parents during old age.
1. We, our, their

2. She, her, her

3. I, my, mine

4, He, his, his

Correct Answer :-
o We, our, their

17) Choose the appropriate prepositions for the given sentence:

It is polite to greet your colleagues first thing the morning ___ you begin your routine.
1. by, after

2. on, before

3. before, after

4. in, before

Correct Answer :-

e in, before

18) Choose an appropriate modal for the given sentence:

Looking back, I felt that I have helped her in her time of need.



1. must
2. should
3. shall

4. can

Correct Answer :-

e should

19) Choose the option that best explains the highlighted expression:

When the deadline neared we had to get down to brass tacks and complete the project.
1. had to outsource work

2. to get serious

3. be all eager

4, worked in a team

Correct Answer :-

* to get serious

20) Choose the option that best combines the given sentences.

He does not like reading. He does not like playing.

1. Neither he likes reading nor he likes playing.

2. He neither likes reading nor playing.

3. He likes neither playing or playing.

4. Reading or playing is liked by him.

Correct Answer :-

» He neither likes reading nor playing.

21) Choose the option that best transforms the sentence into its Indirect form:
‘Do you want to have some more soup?’ My host said. ‘Yes, please.’ I replied.
1. When asked do you want some more soup, | said yes, please.

2. My host offered me more soup and | accepted it.

3. My host was offered me more soup and | accept it.



4. Host said that if | wanted more soup and | accepted it.

Correct Answer :-
e My host offered me more soup and | accepted it.

22) Choose the option that substitutes the given phrase appropriately.

The act of determining the identity of a disease, illness, etc. by observing its symptoms
1. Discriminate

2. Analysis

3. Research

4. Diagnosis

Correct Answer :-
e Diagnosis

23) Read the sentence carefully and choose the option that has an error in it:

Even though my friend considered a career in,economics, he finally,decided on a physic major.
1. Even though my friend

2. considered a career in economics

3. a physic major.

4. he finally decided on

Correct Answer :-

e a physic major.

24) Change the given sentence to Indirect speech.
"I am waiting at the bus stop,” he said.

1. He said to me that he was waiting at the bus stop.

2. He said to me that has been waiting at the bus stop.

w

. He said that he will be waiting at the bus stop.

4. He said that he is been waiting at the bus stop.



Correct Answer :-

» He said to me that he was waiting at the bus stop.

25) Fill in the blank with the most appropriate preposition from the options given.
Arun cleaned his room by stuffing everything his bed.
1.in

2. along

3. on

4, under

Correct Answer :-
e under

26) Fill in the blanks with the correct option in the given sentence:

Educat-- are concerned with the high rate of illter-- among adults.
1. --es, --ation
2. --ion, --ates
3. --ors , --acy

4, --ional, --acies

Correct Answer :-

e --Ors,--acy

27) Fill in the blank with the correct option in the given sentence:

When a person has too much emotion, we call him_--emotional.
1. extra--

2. over--

3. un--

4. in--



Correct Answer :-

e over--

28) Choose the most appropriate determiner in the given sentence.

Bangkokis __ capital of Thailand
1. an

2. the

3. no article required

4, a

Correct Answer :-
e the

29) Choose the right tag:

Sita got married last month, ?
1.isn't she

2. is she

3. didn't she

4, did she

Correct Answer :-
e didn't she

30) Read the sentence carefully and choose the option that has an error in it:

When preparing dinner, my mother often rope in my sisters.
1. in my sisters.

2. my mother often rope

3. When preparing dinner,

4. No error



Correct Answer :-

* my mother often rope

Topic:- Social Science (SSC)

1) A situation where the number of workers employed in a job are much more than actually
required or in other words a segment of the population not employed at full capacity is known as

. | O FRufar o1gi et e & eI 1T it 3t e o | smawas | i giedt g ar
TR Tl § SEEn &1 U9 v o o ermar wR s # 98 @ wan g, S & ¥ d ST
ST 3
1. Involuntary unemployment / 3{ad SRISTITRT
2. Voluntary unemployment / Ufeed SRISTIMRT
3. Structural unemployment / GRITTHD RIS

4, Disguised unemployment / Y=< SRISTTR]

Correct Answer :-

« Disguised unemployment / Ua3d SRR

2) Who believed that learning should be ‘the realization of one's full potential and the ability to use
those skills for the greater good’? / fHa®T HIHAT AT T YaiftrmH, fHowt @t @ &ran 3R 3fre ¥ st
3y & Y I DI BT UGN H DI &HaT DLUT ST Tifeu?

1. Dr. Y. K. Singh / =T. as. &. e

2. John Dewey / Sie 3%

3. John V. Michaela / Siie @Y. f3Qrem

4. Charles Beard / dTed fOIs

Correct Answer :-

« John Dewey / 511l 38

3) BPL stands for . | drdiua &1 farga &u gl
1. Base Poverty Line /99 araet aléa

2. Base Price Line / 99 U8 o3
3. Below Poverty Line / ERIRICH] auéa



4. Below Poverty Level / ERIRICHMRCER]

Correct Answer :-

« Below Poverty Line / faelt aidél améa

4) Which among the following is the main industry of the MENA region of the World? / Fafafaa d
q B A1 Iy F TAT (THSTAT) &F FT Y= AN 22

1. Tourism & Hospitality / Wea 3R nfazy

2. Mines and Minerals / @ 3R @A
3. Petroleum / ﬂm
4, Manufacturing / ICIGEII

Correct Answer :-

« Petroleum / Ueiferaet



Match the following Sufi Saints with their Silsilas:

1. Nizamuddin Aulia | A.Nagshbandi
2. Bahuddin Zakariya | B. Qadiri

3. Ahmad Sarhindi C. Chisti

4. Milan Mir D. Suharwadi

| A fEa gir dr # 39+ fGatdar § AT w3

1. Aead= o A. FFUAEET
2. SEI3%ld SehIRAT | B. HIE

3. 3gAC TXigal C. e
4. Aas #X D. Ggiarsr

=

1. 1-B,2-A,3-C,4-D
2. 1-A,2-C,3-B,4-D
3. 1-A,2-B,3-C,4-D
4. 1-C,2-D,3-A,4-B
Correct Answer :-

« 1-C2-D,3-A4-B

6) A ship starts its journey from Kandla port on the west coast of India for Kolkata Port on East
Coast. Which among the following is a correct order of the ports of India coming on the way? / T
SETS YRd & Uiyl d¢ IR Hisdr 968 | gdf 9¢ W HIadTdr §¢78 & 1 Sru=t amn = Fear g
frafif@a # @ S IR & 3 9T YR & THE SGTE! BT U TEl U 82

1. Mumbai, Cochin, Tuticorin, Ennore, Paradip / zg'aé, P, H@-ﬁ?ﬁﬁ?f, Ted}, UIRIETT
2. Mumbai, Mormugao, Cochin, Ennore, Chennai / T{iﬁlé, 3=I>ITc§'="IT3-ﬁ L P, TeaR, deals



3. Mumbai, Tuticorin, Ennore, Chennai, Vishakhapatnam / Ejil'é, JTepRE, TealR, UeeTs,
[ERURCINECE:]

4, Chennai, Vishakhapatnam, Haldia, Paradip / t]ro-ié, ﬁfQII{QIHQCdH, gfoear, URIEIg

Correct Answer :-

« Mumbai, Cochin, Tuticorin, Ennore, Paradip / Eli_slé', P, F]\T-ﬁ?ﬁﬁ?f, TR, URIGIT

7) In the sea, plants are restricted up to the depth of AL 'l?f, ey & TI?TI? Ged
wfaafia g1

1. 1000 meters / 1000 e
2. 200 meters / 200 HIeX
3. 20 meters / 20 FHIeX

4. 2000 meters / 2000 HIeX

Correct Answer :-
« 200 meters / 200 HIed

8) The gold coins of Vijayanagara empire was not called as [ faSig-"R I & 91 & Riad| &1 a8
Tl BT SITaT T :

1. Hon/{-‘?l?l'
2. Varaha / Il
3. Gadyana / ITOTT

4, Niska / a1

Correct Answer :-

« Niska / AT

9) The Foreign Direct Investment was increasedfrom__ during the implementation of

New Economic Policy in 1991. / 1991 & =€ afifes My & Prataud & <R weger fad=h
fra=r a1 faar mar Ut

1. 50% to 70% / 50% ¥ 70%

2.40% to 51% / 40% & 51%

3.30% to 40% / 30% I 40%



4.30% t0 39% / 30% & 39%

Correct Answer :-

o 40%1t051% / 40% T 51%

10) When did the National Food Security Bill introduced in India? / ARd & TS greq
T A9aF Fa goqa fhar T

1. 2214 December 2011 / 22 fe@eT 2011
2. 22" December 2012 / 22 feHaR 2012
3. 22" December 2014 / 22 IR 2014
4. 22" December 2013 /22 fegaR 2013

Correct Answer :-
« 221 December 2011 /22 fGHeR 2011

11) Who among the following influenced the development of Project method?/ Feafaf@ada
et aRasre qeufa & fawma 1 yanfae

1. Socrates / Il

2. John Dewey / CICRES)
3. Pestalozzi / G&ATITCHT
4. Comenius / PrATAITT

Correct Answer :-

« John Dewey / CIGRES]

12) Who said that “Curriculum is a tool in the hands of an artist (teacher) to mould his
materials (pupils) according to his ideals (objectives) in his studio (school)”?

| e wE F eIt vE FaeR (ew) & a1 7 Al 97 oo ¢ O 9w 3w
A (FHeT) & I et (3N F AR el wAah () #r arer w2

1. Munroe / ?ﬂ?-RT

2. Arthur Cunningham / 31T R wfdas



3. Robert Dahl / ¢ 3T&EcT
4. H. L. Laswell / Td. Td. A

Correct Answer :-

« Arthur Cunningham / 3R Hicee

13) Who described the role of Prime Minister as ‘the linchpin of Government’? / f&&et
gt B AR F wER B fAARe (gf fr Ay garm

1. Jawaharlal Nehru / STdT&X olTel c-\l‘a{'\

2. Alladi Krishnaswamy Iyer / 3Teelldl z;v‘TlYU'R::I'I'clfT ATIX

3. Dr. Rajendra Prasad / 3. Toleg udIe

4. Sardar Vallabhai Patel / TRGR dedlHls U<

Correct Answer :-

« Jawaharlal Nehru / STdTeY ool &

14) Only two Asian countries are in 1IGW country club of Geothermal Installed capacity. Which
are those Countries? / Fael & TRIATS A ST FEATRT &7 F 1GW 337 Farw 7 51 T a1
wlT & §?

1. Malaysia and Singapore / #Feiferar 3R RFomgy
2. Indonesia and Philippines / Z2&fRmm 3R freida
3. Laos and Cambodia / @13id 3R daifear

4. India and China / 9T 3R ==

Correct Answer :-

« Indonesia and Philippines / = 3R freidia

15) Committee referred to criminalization of politics hinting at close nexus that
has come to prevail between the politicians and the criminals. / afafa a weEfa &
srqurefieRor &1 fo faran, st danst st sifeat & e afass @@y & wwer 3ma g

1. Santhanam / GATTH

2. N.N. Vohra / Td. Td. Il



3. Shri K. V. Chowdary / 47 &. dY. aiadr
4. Shri Sharad Kumar / 8T eR¢ $AR

Correct Answer :-

o N.N. Vohra / Td. Te. dI&dl

16) are societies which offer credit facilities for a short term to the farmers. /

¥ g § A ruE i sreuafy & A wor gRwr vy w3 §
1. Programme for Agricultural Credit Supply (PACS) / ST 30T 3Mqfd & forw sy (drodiea)
2. Private Agricultural Credit Societies (PACS) / fsil iy &m@ FfAfaar (divded)
3. Primary Agricultural Credit Societies (PACS) / WTTH& HTY ar@ FfAfdan (dedey)
4. Personal Agricultural Credit System (PACS) / TaThaTd Hi¥ FOT YuTtelr (drodivy)

Correct Answer :-

« Primary Agricultural Credit Societies (PACS) / UTAfH® %ﬁ @ afafaar (@)

17) is a writ issued to restrain a person from acting in a public office to which he

/she is not entitled. / ol cafFa®) AR R F F F A T Ahad &
faw Sy fFam =T g (Re) & Susras s A8l

1. Mandamus / TRATC
2. Quo warranto / JTIPR JTol
3. Certiorari / 3cO§UT

4. Prohibition / Ufauer

Correct Answer :-

« Quo warranto / 3TIHR gTol

18) Howard Gardner proposed: / §/aTS IMSAT A TEATAT fh4T AT:
1. Theory of multiple intelligence / ag-ai fgehdT &1 FgTd
2. Two-factor theory / GI-dReh FAGId

3. Multi-factor theory / Ig-pReh agra



4. Group factor theory / H’Iﬂﬂ%‘cﬁ PR AT

Correct Answer :-

« Theory of multiple intelligence / EIE-E” fgehdT &1 Fagd

19) A social science teacher is expected to be an epitome of democratic virtues. Which among

the following is a democratic virtue? / o faae & et & Aeaiias UIUIT T Yol AT
ST ¢ faeafaf@a F & #ar va awdite or g2

1. Students have the liberty of attending the class at any time / TI@TT=T ot TRt off T heT A
SUTEY Bl & Tl &

2. Distribution of questions among the students / et o wat &1 faaRoT|

3. Accepts and invites differences of opinion from the students in a positive way / HBRIcHD TT H

feramfeiat & HARET T FllehR AT & 3N AT LT B
4. Maintaining strict discipline in the classroom / &1l H & JIRMHA IATT TGAT|

Correct Answer :-

« Accepts and invites differences of opinion from the students in a positive way/ HhRIcHD T T

it & AqHET & THBR Har & 3R 3MHET AT o

20) The major demerit of lecture method is:y/ SATEATT fATE HIHHE 0T &:
1. It is a time consuming process / I& Teh THI olet dTell TThAT & |

2. It reduces the attention span / g €T AT P I il ¢

3. It encourages learning through divergent thinking / Ig Taaferd fidar & @reas & 39T &t

TIcaTied a1

4. It discourages self-effort by the student / I& ST gIRT ATcH-UATH G E»d\ld-lllr%d GIREe] %I

Correct Answer :-

« It discourages self-effort by the student / I STT GRT TcH-UATH Pl edlcAT o Pl ¢

21) The purpose of punishment is to decrease the frequency of behaviour. / §IT &T
3T S¥agR 1 g B FH FAT 8

1. learned / 3TQerfAT
2. undesirable / 3TATSATT



3. positive / HhRIcHD

4. desirable / TG

Correct Answer :-

« undesirable / AT

22) The is indeed the foundation of socialization because it is the first contact of the

child. / qIEaa A FATSIHOT 1 Hiq §, FifR a8 Bt 953 1 9gen a9F gar ¢
1. neighbors / GSIET

2. family / IRAR

3. peer group / ICE] qJe

4. environment / GITaOT

Correct Answer :-

. family / UR@R

23) The Constitution has fixed of the total membership as quorum for both Lok Sabha
and Rajya Sabha. / Gfaener & Sl6wT i ISTHWHT Q1 Hfov Fiaw & (FRHA) &
T A Fol Ga&gdl HI e fra 2

1. half / 3741

2. one-tenth / Teh-gqdT
3. one-fourth / Th-TIATS
4, one-third / W-ﬁgl’é
Correct Answer :-

« one-tenth / Uh-ggdl

24) Group activities are the cardinal exercises in collaborative learning, which are aimed to: /

g FraTeeTT aeifes FaTor F e sream §, Forere segea AaeT &:

1. Boost pride among the students / FaaTfd=t & reafaama aeren

2. Reduce the burden of the teachers in their instructional style / fT&TehT & ST BT SeAch] IGEURGED
el F A AT



3. Make the classroom active and participatory in nature / TH&TT <l Cﬁﬁ% & aferd 3R Tl aarer
4. Generate synergy among the members of the group / H{g o e &l & 1T dreldof dATAT

Correct Answer :-

+ Generate synergy among the members of the group / g & GSLA! & 1T dTelH T dATAT

25) Which Article of the Constitution makes it clear that Panchayat Raj Institutions have some
original functions and some agency functions? / |faemsT &1 ST 467 3@@? gg TISC h{dl %
& darra U9 SEnt F O q9 7 3R Fo Affwor (vod) w2

1.243-E / 2433

2.243-G / 243-30
3.243-F / 243-T%
4.243-0 / 243-301

Correct Answer :-

o 243-G /243-301

26) Which Five Year Plan was drafted underitheldeadership of P, C. Mahalanobis? / ®lsT &Y

yaasT Aiear @ FETEeeE & Aqed AR @ gy
1. Second / g

2. Fourth / Ttef

3. Third / T

4. First / 9UH

Correct Answer :-

« Second/ fgdra

27) Which of the following is commonly used to record the informal teacher observation
regarding students in and outside the classroom? / FRTT 3TN FTATT: &I & 3T 3 I8
fagaf¥at & v # srettaarites frers st Rerd w3 & fore frar smar @2

1. Cumulative record / T Repis

2. Checklist / STra-gT



3. Rating scale / $hH AYRoT A
4. Anecdotal record / SURSATATHD |§$V|é

Correct Answer :-

« Anecdotal record / SURSTATHD |§$V|é

28) Which among the following is typically used to display all kinds of creative works of

students in the classroom? / F&T ¥ fagafdAt & @t YR F T@ATcHS FHAT ) I&fid F: &
foT Arafaf@d & ¥ fFasr saater fAfdse &7 @ Farsmarg?

1. Flannel board / FolTel a1
2. Black board / q@rﬁw GIE3
3. Peg board / UaT qs

4, Bulletin board / gﬂﬁ'ﬂ g

Correct Answer :-

« Bulletin board / g@l e s

29) Where do Nyaya Panchayats prevail?g/a a1 Sa a0y helpudiad 82
1. District / Tl

2. Village / TG

3. Block /selfeh

4. Corporation / f¥9TeT

Correct Answer :-
« Village / 3Ta

30) How can a social science teacher effectively and experientially transact the concept of

sustainable development among students? / T Ao [Tl fA8TH ﬁa:ﬂTfﬁTﬂ' # ¥ad fawm
Y IO Y THTET 3 ITHATCHT ST & HFA TG FT Hahell 07

1. Conducting brainstorming session on sustainable development / Tcldl TdehrT WX W
(STFHSIHI) T7 Faferd |

2. Showing a movie on environmental preservation / TITaR 0T TIETOT IR Uk Thed fE@mani |



3. Undertaking a field trip with the students to an ecological hotspot / e & @1y v
IR FEATAHIT gleruic W Ueh &3F 1T &l S1f-Aca ol |

4. Delivering a lecture on sustainable development / Tcdl TAhTH U TTEITT Goh< |

Correct Answer :-

« Undertaking a field trip with the students to an ecological hotspot / it & a1y v
TIRTEAUTARIT BleTdic U Teh &19 ATAT &l GAcd oIl |

31) How many types of urban local governments currently exist in India? / AR H qdAeT A
fraet yaR & agd TUET TWER §?

1.6
2.7
3.3

4.8

Correct Answer :-

32) According to the State Banks (Repeal andiAmendment)Bill of 2017 which among the following
subsidiary banks of SBI ceased to exist? / 20177 Tee d (RTEa-3iY Fae=) @I+ F ITER
TS F fAefai@a AlsEr weras d9 AR Pl wr 9 gr s

1. State Bank of Karnataka / &€ dh 3% Phaled

2. State Bank of Punjab /T dF 3T gag

3. State Bank of Meghalaya / ¥¢€ & 3iTh FHaTad
4. State Bank of Travancore / &€ b 3T FTAUTRIR

Correct Answer :-

« State Bank of Travancore / &€ dh 3T JTIUTHR

33) What does Pir mean in Sufi tradition? / E’\‘ﬁ U #F IR &1 741 3 ar 22
1. Supreme being / GQIHATCHT

2. Greatest of the Sufi saints / T Hdl H FIH HElA

3. None / EFT% FI%T



4. Spiritual Guide or Elder / ST HFTGRIP AT ol

Correct Answer :-

« Spiritual Guide or Elder / 3{TEAT&® AnfeRi® a1 §T§P’f

34) What is not true about Raja Ram Mohan Roy? / TSIT T AlgsT T & IR & FAT I 1T 82
1. He abolished sati system. / 3gi- Tcit YT DI AT b

2. He founded Banaras Hindu University. / 3egld daRd ﬁ@ fafaarera $r TamTar 6

3. He founded Brahmo Samaj. / el SI&l HHTST &l TATTAT &l |

4. He was an advocate. / dg Tch ghrer |

Correct Answer :-
« He founded Banaras Hindu University. / 3ol deIiRd %@ frafaarera &r Tamgar H

35) What is true about Simon Commission recommendation? / T8HT FHAIIT Hr RAEINT & IR & Far
T 8?2

1. Abolition of Sati / ¥cil TUT BT I

2. Abolition of legislature at Centre / & H fauTRIdmT &1 [P E)
3. Abolition of Child marriage / dTel fadTg &1 I+d

4. Abolition of Diarchy / &8 X BT 3

Correct Answer :-

« Abolition of Diarchy / Y TR &1 S5 Skl

36) Bhakti cult was spread in Maharashtra with the teachings of i & 3ugelt & sifda gy
AERTSE H et a1y

1. Tukaram / JPRIA
2. Jyaneshwar / SATAaX
3. Ramdas / TTHGTH

4. Chaitanya / SRED)

Correct Answer :-

e Tukaram / JPRTH



37) Quantitative restrictions imposed on imports to encourage domestic production are known

as ./ O 3G Y WicHTRd aXa & [T AT 9 T 0 AEeAF yfaay &t
& W & AT AT 2

1. Tariffs / UR[e<h

2. Subsidy / TSTERRIAT (Hlews))
3. Quotas / BIeT

4. Embargo / <IIUR gfaaer
Correct Answer :-

+ Quotas / PleT

38) First five plan was based upon which popular economic model? / TIH yaayfy A R
ST IFF Alser W 3maRa oz

1. Lewis Model / 338 Higel

2. Mahalanobis Model / HgTaIAOT AlSS

3. Cobb-Douglas Model / HIF-3ITer Al

4, Harrod-Domar Model / %ﬂg-g’lm HAlsol

Correct Answer :-
e Harrod-Domar Model / %‘{’Ig-g’lm HAlsol

39) Which Sufi saint propagated that devotional music was essential for being closer to God? / f&r®
A g7 A v9R B B afFa w@ofa, serae & w09 @ F v smaeas 2

1. Saikh Muinnuddin Chisti / 99 gzl Taed
2. Shekh Alam Bukhari / @ 3TTeld @RT
3. Syed Muhammad / &3¢, Heddq

4. Kwaja Fariddudin / SAToll BRIGge

Correct Answer :-

+ Kwaja Fariddudin / SATST B 3\@’5‘ -

40) Which were the two cave paintings of Gupta Period? / J[c &Tel & a BT R sl & &

1. Ajanta and Bagh / 3fSidT 3R 19



2. Ajanta and Ellora / 3fSidT 3R TaR
3. Lomas Rishi cave and Bagh / A %‘fﬁ‘;rqo—[ 3R 919
4. Ellora and Bagh / TART 3R Y

Correct Answer :-

« Ajanta and Bagh / 3fSidT 3R €19

41) Which Women leader represented India in Second Round Table Conference? / CX:) II'%T-!T AdT oF
gfadr Mo ¥FesT & 9Ra &1 giafafdea fFam

1. Sarojini Naidu / SRIFSF A1Ig
2. Aruna Asaf Ali / 3{SUIT 3% 37l

3. Kamala Devi Chattopadhyaya / A adl Elé sl):2 )
4. Vijaya Laxmi Pandit / faorar @&t ufsd

Correct Answer :-

« Sarojini Naidu / RIS ARg

42) Ryotwari System was first introduced by Thomas Munro in ./ {IAATE SaTdT G99 g
U HAN @RI A g% @1 T AN

1. Bengal Presidency / STTa Dt
2. Bombay Presidency / ST URfTS T
3. Madras Presidency and Bombay Presidency both / Fgrg UIST 3R S IS gt
4. Madras Presidency / H&N Uftadl

Correct Answer :-

« Madras Presidency / 9o Udtadt

43) Who won the ‘third battle of Panipat>? / “dTefiqel T fIeRT Iger fFaa sfiar
1. Hem Chandra Vikramaditya / g9 9% faswaiiea
2. Sher Shah Suri / ]R M8 T

3. Ahmad Shah Durrani / 3/gHg Q118 gRIFt
4. Ibrahim Lodhi / 3sTfeH aeft

Correct Answer :-

e Ahmad Shah Durrani / 3{gHq Rllg grf—ﬁ



44) Who was the founder of Tuluva Dynasty? / Jdld ST & HEYYF HiaT I?
1. Deva Raya I/ a1 UUHA
2. Virupaksha IT / faearer fgcr

3. Tirumala Raya / fa%aTel I

4. Tuluva Narasanayaka / JeldT cAXHcATIhI

Correct Answer :-

¢ Tuluva Narasanayaka / JefdT A{HATIh]

45) Who was not the prominent literary figure during Babur’s time? / &l 916X & 9HYT J gHE

AIEIFR ¢ 41

1. Khusrau / &I

2. Mulla Shihab / Heell HIgd

3. Sheikh Zainuddin / 9@ Steale
4. Khwandamir / TIMGHR

Correct Answer :-

o Khusrau / W

46) During the reign of Mauryan Emperor Binddusara which heterodox philosophy flourished? / A
FATE RequR & aaaFe F SR Fla a1 FaRF gia For-gan

1. Vaisheshikas / mRreprd
2. Ajivikas / AT TawrE
3. Nyaya / <1

4. Nityavadi / fAcamard]
Correct Answer :-

o Ajivikas / 31T fdera

47) Albania, Bosnia and Herzegovina, Bulgaria, Croatia, Greece, Macedonia etc. are known as
Balkan countries. The term Balkan is derived from the following landforms? / 3feqTaT,
T iR geimifaaT, gemiyar, ek, 99, ﬁﬁ@ﬁmmﬁﬁw%&h%wﬁmm%l
e Mg Frafefaa y-snepfoal d | frax forar mar 82



1. A Lake / Th el
2. A Sea /Ush Hg
3. A Mountain / Tch Tad

4. A River /U aIar

Correct Answer :-
o A Mountain / Tch gdd

48) Which of the following is a pull factor for Migration to the place of Destination? / faF=ifaf@d HE Sl
| AT T W Gar8a F AT 0F Jood haex (st #1 FRrF) 82

1. Unemployment / SRISFTRY

2. Peace and stability / enfa 3R RE2Rar

3. Political Turmoil / TSEde sodd

4, Poor Standard of Living / HdASIR Sfad TR

Correct Answer :-

o Peace and stability / enfd 3R RERar

49) The nature of social science is best represented: / ATHIT a3 B U@'ﬁ P! HaIH a8ld I
CRUEIREIGIE]

1. As a unified subject / Tch ('?ﬁ% IBLR R R

2. As an independent subject / Teh ¥ T [auT & ®7 H

3. As a dependent subject / Teh Y9 T & &7 &

4. As not a correlated subject / Tch W YT FFTTH Fl?f

Correct Answer :-

« As a unified subject / Teh Tehipd TaUZ &b &7 H

50) “To monitor daily performance and to encourage students to reflect on their own
learning.” This is the purpose of: / "¢ Ue &1 Afterr H3ar1 ik faenfiay #) wau Y Rran
B U P & forT HieqTied 11 g e ST 382y @

1. Diagnostic assessment / SGITeidh 3TTcholel

2. Anecdotal records / SUTEITATCHS Nepis



3. Non-referenced assessment / 3T A 3Tholel
4. Portfolio assessment / QTCHIToIAT 3Tehelel

Correct Answer :-

« Portfolio assessment / GICHhITorAT 3TTholel

51) Sedimentary rock change to metamorphic rock because of which of the following

process? / AW} g™, HrATdRd ggl # fFaferfad # | f$9 ufpar & wror uiafdq 8 wrdt 82

1. Re Crystallization / G [EZIEEICE

2. Uplift Weather and Erosion / 3¢l #EH 3R 3WReA
3. Fusion / fdorg

4, Burial-Heat and Pressure / &%hel-drd 3R g

Correct Answer :-

e Burial-Heat and Pressure / &h-amd 3 &g

52) Which among the following is not an ideal teaching skill for a social science teacher? /

frafafea % 3 a1 ve e fase Rige & fore v smest Rigor o 78 82
1. Optimal movement in the classroom whilggteaching / fI&T0T eh@iRTeT H&TT H SEAH T |

2. Eye to eye contact with all the students / THY faanfd=t & @11 3@ & 311@ GYH TATAT|

3. Stimulus variation while lecturing / SITEATT P HT 351U [HeeddT |

4, Maintaining strict and rigid discipline in the classroom / D&l T T 3R HBR SR d1¢
RECEIN

Correct Answer :-

 Maintaining strict and rigid discipline in the classroom / P&l T T 3R HBR SR 11U
RECEIN

53) Which among the following is not a type of assignment in the strictest sense? / Frafafea o

A P fagls 3l o T UPR &1 quIeR el 82

1. Curricular assignment / Lllqild{ HcH@ERFr

2. Remedial assignment / SUdRTcHD '\‘:I?:IT:[?(?TH

3. Revision assignment / gﬂﬁ'@ﬁ H’Hﬂﬁ'?l?-r



4. Preparatory assignment / JRIFHEb E’cﬂﬂﬂ'?lﬁ

Correct Answer :-

« Preparatory assignment / YR & H’cﬂaﬂ'ﬂ?{

54) Globe is a classic example for: / Tg UDPTUD 3 Pp¥ JaleUl %:
1. Projected aid / GloTehes AT

2. Audio visual aid / 3T{S3T fag[3rer e

3. Graphic aid / ITfthep TTUS

4. 3D aid / 3D @19

Correct Answer :-

« 3D aid /3D @149

55) In an ecotone, the species which become abundant are called? / T H&HfA®T (sHick) &, T
gorTfadi foaedT AT 310 & St §, 37¢ Sel sier 82

1. Edge species / ST ganfadr
2. Keystone species / @#cia gsiaan
3. Endemic species / Usfde gamiaarn

4. Foster species / ®iFeX ganfaar

Correct Answer :-

- Edge species / TS gamfaar

56) Which one of the following is slow downhill movement of debris? / @& & & Fia it s
ey & el sreemaY afa §2

1. Creep / g

2. Earthflow / Fjeruare

3. Landslide / {F@ad
4, Mudflow / Uspydarg

Correct Answer :-



« Creep / iU

57) Which of the following country is the largest producer of Uranium? / faf@a & @
FiT AT AT PRATA FT WX 937 3cIEH 82

1. Kazakhstan / ®oRId™

2. Canada / heT3T

3. Australia / H@%F’JIT
4. USA / €§gh T AR

Correct Answer :-

. Kazakhstan / SWTRIEIH

58) Which day is celebrated as Earth Day? / ¥ e &t qedt Raw & & & #emn smar 82

1. 22nd March / 22 &I
2. 5thJune / 5 Sfel
3. 16th September / 16 TAdaX

4.22nd April / 22 3Ttier

Correct Answer :-

o 22nd April / 22 3l

59) When was the Gandhi-Irwin Pact signed? / Tith-3fa< qugNa W $a swarar fvar war ur?
1. 1931

2.1929

3.1935

4. 1932

Correct Answer :-

» 1931

60) Per Capita Income =



Jufa aafes emg =

Income

1 Employment rate

S

ISR &

MNational Income

Population

ST 3
EEREC]
Taxable asset
3. Population
AR
ST

Population

4. National Income
SRS

S 31

Correct Answer :-

National Income

Population



